C:# [Topsimok npoOeit

Nwms:

Ynopsiiouusaiire ApodH 0T HAUMEHbIIEH K HAM0O0JIbIIECH.

) 1,3,5, 3
/3.74:710+7/5

2)

1,2, 1, 8
/3./5:/4./1

3)

1, 7 2, 2
/a7 10:75.75

4)

4, 2, 1, 5
/s:/3: /4710

S)

3,1, 1, 3
/5:/3:/2:710

6)

2,9 2, 2
/a-"10:73.7/5

7

3,1, 7 3
/4:/2:710:/5

8)

2,3,2,6
/374> 75710

9

1, 2,2, 3
/573 /4710

10)

4, 3, 2 1
/57471075

OTBeThl

10.
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ﬂh ITopsimox apo0ei

Nwms:

Kiwu k IpaBUJIBHBIM OTBETaM

Ynopsiiouusaiire ApodH 0T HAUMEHbIIEH K HAM0O0JIbIIECH.

) 1,3,5, 3
/3.74:710+7/5

2)

1,2, 1, 8
/3./5:/4./1

3)

1, 7 2, 2
/a7 10:75.75

4)

4, 2, 1, 5
/s:/3: /4710

S)

3,1, 1, 3
/5:/3:/2:710

6)

2,9 2, 2
/a-"10:73.7/5

7

3,1, 7 3
/4:/2:710:/5

8)

2,3,2,6
/374> 75710

9

1, 2,2, 3
/573 /4710

10)

4, 3, 2 1
/57471075

10.

OTBeThl

1 5 3 3
/3000750 /s

1 1 2 8
a3 /5555

1 2 2 7
is75: /55

1 5 2 4
a5 0s 755 /5

3 1 1 3
Y ls0 120 /s

2 2 2 9
/5174555 /ho

1 3 7 3
/20750 /0 /s

2 6 2 3
/s: /0 /35 /s

1 3 2 2
/ss /s 745 /s

2 1 3 4
N0 a5 s
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